

# Taylor Series

Corollary (from term by term differentiation theorem).

$$\text{If } f(x) = \sum_{k=0}^{\infty} a_k (x-a)^k$$

converges on  $|x-a| < R$ ,

$R > 0$ , then  $a_n = \frac{f^{(n)}(a)}{n!}$

Proof:  $f^{(n)}(a) = \frac{d^n}{dx^n} \left( \sum_{k=0}^{\infty} a_k (x-a)^k \right) \Big|_{x=a} = n! a_n$

Remark: It is possible

that  $R=0$  (Example  $\sum_{n=0}^{\infty} n! x^n$ ).

In this case,  $f(x)$  is only defined on  $x=a$ ,

( $f(a) = a_0$ ), but

$f'(a), f''(a), \dots$

are not defined.

Def Taylor Series generated  
by  $f$  at  $x=a$  is

$$\sum_{n=0}^{\infty} \frac{f^{(n)}(a)}{n!} (x-a)^n$$

Def Taylor  $(f, a)(x)$

Special case.  $a=0$ .

$$\sum_{n=0}^{\infty} \frac{f^{(n)}(0)}{n!} x^n \rightarrow \text{Maclaurin Series}$$



Example  $P(x) = \text{polynomial}$   
 $= \sum_{k=0}^m b_k x^k$

Taylor  $(P, 0)(x) = P(x)$

$$\left. \frac{d^n}{dx^n} (x^k) \right|_{x=0} = \begin{cases} k! & n=k \\ 0 & n \neq k \end{cases}$$

$$\left. \frac{d^n}{dx^n} \left( \sum_{k=0}^m b_k x^k \right) \right|_{x=0}$$

$$= \begin{cases} 0 & n > m \\ k! b_k & n = k \leq m \\ = n! b_n & \end{cases}$$

$$\therefore \text{Taylor } (P, 0)(x)$$

$$= \sum_{n=0}^{\infty} \frac{P^{(n)}(0)}{n!} x^n$$

$$= \sum_{n=0}^m \frac{n! b_n}{n!} x^n$$

$$= P(x)$$

Similarly,

$$\text{Taylor } (P, a)(x) = P(x)$$

---

Example  $f(x) = e^x$

Taylor  $(e^x, a)(x) = ?$

(Ans:  $\left. \frac{d^n}{dx^n} e^x \right|_{x=a} = e^a$ )

$$\therefore \rightarrow = \sum_{n=0}^{\infty} \frac{e^a}{n!} (x-a)^n$$

$$= e^a \left( \sum_{n=0}^{\infty} \frac{1}{n!} (x-a)^n \right)$$

converges for any  $x \in \mathbb{R}$

( $= e^x$ ? Yes, next time)



Example Taylor  $(\cos x, 0)(x) = ?$

Ans:  $\cos^{(n)}(0) =$

$$\begin{array}{ccccccc} 1 & , & 0 & , & -1 & , & 0 & , & \dots \\ \parallel & & \parallel & & \parallel & & \parallel & & \\ \cos 0 & , & -\sin 0 & , & -\cos 0 & , & \sin 0 & & \\ n=0 & , & n=1 & , & n=2 & , & n=3 & & \end{array}$$

$$\text{Answer} = 1 - \frac{x^2}{2!} + \frac{x^4}{4!} - \frac{x^6}{6!} + \dots$$

converges for any  $x \in \mathbb{R}$

(=  $\cos x$ ? Yes, next time)

Example  $f(x) = \begin{cases} 0 & x=0 \\ e^{-\frac{1}{x^2}} & x \neq 0 \end{cases}$

Note:  $0 \leq f(x) < 1$

$$f(x) = 0 \iff x = 0$$

Does  $f'(0) = \lim_{x \rightarrow 0} \frac{f(x) - f(0)}{x - 0}$  exist?

$$\left(\frac{0}{0}\right) \lim_{x \rightarrow 0} \frac{e^{-\frac{1}{x^2}}}{x} = \lim_{x \rightarrow 0} \frac{1}{x} \left(\frac{\infty}{\infty}\right)$$

$$= \lim_{x \rightarrow 0} \frac{-x^{-2}}{-2x^{-3} e^{\frac{1}{x^2}}} = \lim_{x \rightarrow 0} \frac{x}{2e^{\frac{1}{x^2}}} \left(\frac{0}{\infty}\right) = 0$$



$$f''(0) = \lim_{x \rightarrow 0} \frac{f'(x) - \underbrace{f'(0)}}{x}$$

$$= \lim_{x \rightarrow 0} \frac{2x^{-3} e^{-\frac{1}{x^2}} - \underbrace{0}}{x}$$

$$= \lim_{x \rightarrow 0} \frac{2x^{-4}}{e^{\frac{1}{x^2}}} \left( \frac{\infty}{\infty} \right)$$

L'Hôpital (homework) = 0

In fact,  $f^{(n)}(0) = 0$ ,  $n = 0, 1, 2, \dots$

Taylor  $(f, 0)(x) \equiv 0$  function  
 $\neq f(x)$ . if  $x \neq 0$

This is an example where  
Taylor  $(f, 0)(x)$  is NOT  $f(x)$ ,  
except when  $x = 0$ .